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BES-001 : UNDERSTANDING THE ELEMENTARY 
SCHOOL CHILD 

Time : 3 hours 	 Maximum Weightage : 70% 

Note : (i) All questions are compulsory. 

(ii) All questions carry equal zveightage. 

1. Answer the following question in about 
600 words : 

Discuss Kohlberg's theory of moral development. 
As a teacher how can you promote morality 
among your children. 

OR 

Explain the basic principles of play. Discuss the 
role of a teacher in children's play with suitable 
examples. 

2. Answer the following question in about 
600 words : 

Explain how Erikson's theory and Kakar's 
perspective are relevant in understanding the 
social development of children. 

OR 
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'Gender issues in school exist, beyond the hidden 
curriculum'. Critically examine the above 
statement with examples from your school 
experience and chalk out some ways to handle 
gender stereotypes in schools. 

3. Answer any four of the following in about 
150 words each : 

(a) Differentiate between the terms impairment, 
disability and handicap. 

(b) Influence of peers in children's life. 

(c) Explain the process of assimilation, 
accommodation and equilibration with 
suitable example. 

(d) What are the common barriers to inclusion 
in a school ? 

(e) Discriminate between implicit and explicit 
socialization. 

(f) Write any two policies and programmes 
implemented by the government to 
minimize marginalization in schools. 

4. 	Answer the following in about 600 words : 

Suppose you have children with certain 
behavioural problems such as inattention and 
truancy in your classroom. Discuss the tools that 
you will use to find out these problems and also 
the strategies needed to solve the problems. 
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